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 1. The question paper will be given in the form of a Question Booklet. There will be four versions 
of question booklets with question booklet alpha code viz. A, B, C & D. 

 2. The Question Booklet Alpha Code will be printed on the top left margin of the facing sheet of 
the question booklet. 

 3. The Question Booklet Alpha Code allotted to you will be noted in your seating position in the 
Examination Hall. 

 4. If you get a Question Booklet where the alpha code does not match to the allotted Alpha Code 
in the seating position, please draw the attention of the Invigilator IMMEDIATELY. 

 5. The Question Booklet Serial Number is printed on the top right margin of the facing sheet. If 
your Question Booklet is un-numbered, please get it replaced by new Question Booklet with 
same Alpha Code. 

 6. The Question Booklet will be sealed at the middle of the right margin. Candidate should not 
open the Question Booklet, until the indication is given to start answering. 

 7. Immediately after the commencement of the examination, the candidate should check that the 
Question Booklet supplied to him contains all the 100 questions in serial order. The Question 
Booklet does not have unprinted or torn or missing pages and if so he/she should bring it to the 
notice of the Invigilator and get it replaced by a complete booklet with same alpha code. This is 
most important. 

 8. Question Serial No. 1 to 100 are printed both in English and in Tamil. Doubts regarding 
the meaning and translation of question serial No. 1 to 100 will be settled based on the 
questions in English. 

 9. Two blank pages are provided before the last page of this Question Paper for rough work. 
 10. Please read carefully all the instructions on the reverse of the Answer Sheet before 

marking your answers. 
 11. Each question is provided with four choices (A), (B), (C) and (D) having one correct answer. 

Choose the correct answer and darken the bubble corresponding to the question number using 
Blue or Black Ball-Point Pen in the OMR Answer Sheet. 

 12. Each correct answer carries 1 mark and for each wrong answer 1 / 3 mark will be 
deducted. No negative mark for unattended questions. 

 13. No candidate will be allowed to leave the examination hall till the end of the session and 
without handing over his/her Answer Sheet to the Invigilator. Candidates should ensure that 
the Invigilator has verified all the entries in the Register Number Coding Sheet and that the 
Invigilator has affixed his/her signature in the space provided. 

 14. Strict compliance of instructions is essential. Any malpractice or attempt to commit any kind 
of malpractice in the Examination will result in the disqualification of the candidate. 

 INSTRUCTIONS TO CANDIDATES 

Question Booklet 
Alpha Code 

Question Booklet 
Serial Number A 

 Total Number of questions : 100 Time : 1 hour 30 Minutes 

           Maximum Marks : 100 
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1. Which among the following advocates centralization and hierarchy, but also stresses that 
leadership should balance equity and esprit de corps? 

(A)  Fayol’s Principles (B) Bureaucratic Theory 

(C)  Behavioral Theory (D) Scientific Management 

2. Assertion – Reason : 

A : Contingency theory rejects the idea of “One best way”. 

R : It adapts to different situations. 

(A)  Both true, R explain A 

(B) Both true, R does not explain A 

(C)  A true, R false 

(D) A false, R true 

3. Statement – Assumptions : 

Statement : “Informal communication exists in every organization”. 

Assumptions : 

I.  Employees form social groups. 

II. Informal system always harms efficiency.  

(A)  Only I assumed (B) Only II assumed 

(C)  Both I and II assumed (D) Neither I nor II assumed 

4. Assertion – Reason :  

A : Organizational culture affects performance. 

R :  Shared values shape behavior. 

(A)  Both true, R explains A 

(B) Both true, R does not explain A 

(C)  A true, R false 

(D) A false, R true 

5. Statement – Assumptions : 

Statement : “Trait theory says leaders are born”. 

Assumptions : 

I. Leadership qualities are innate. 

II. Leadership skills cannot be developed. 

(A)  Only I assumed (B) Only II assumed 

(C)  Both I and II assumed (D) Neither I nor II assumed 
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1. 0��W�pT�\ �[�X �n��0!0� ���*W�$Z �)Z, ��)\ �0!0� ��Tt$T0��X 
j�U���T0��X ����0!W�pT� /$SpX �V�0��X $���Tt�$Z �)Z? 

(A) ��/�)�V .�)]0��] (B) ����)�Tt$M /�)R�)p 
(C)  �டT0�M /�)R�)p (D) � �$��\ /�!)S0� 

2. f[� - �)��X : 
A : �[.��\ /�)R�)p "�� �� U� $#*" �V  ��T0� ���)��*M�� t. 

R : �t .$_/$� k^��0!��Me 
[ $)� �)��� t. 
(A) ��SpX 
S0�, R, A - 0$ $�ளMe�� t  
(B) ��SpX 
S0�, R, A - 0$ $�ளM�$�\0!  
(C)  A 
S0�, R �$� 
(D) A �$�, R 
S0� 

3. f[� - �x�)�N�] : 
� �M0�   :  “�_.$)� ���$�T���X }0 �)�) .�)டZ{ 
]ளt”. 

�x�)�N�] : 

I. �#*�Z�] �~�M e�M�0ள 
�$)Me�� )Z�]. 

II. }0 �)�) �0�W{ �W/�)tX .��\�� 0� �)��M�� t. 
(A) I �RpX �x�)�*T/�V 
(B) II �RpX �x�)�*T/�V 
(C)  I �[�X II ��SpX �x�)�*T/�V 
(D) I �\!t II ��SpX �x�)�*M�$�\0! 

4. f[� - �)��X : 
A : ���$� �!)O�)�X .��\�� 0� �)��M�� t. 

R : ����W�Rட ���W{�] �டT0�0� $n$0�M��V �. 
(A) ��SpX 
S0�,  R, A - 0$ $�ளMe�� t  
(B) ��SpX 
S0�, R, A - 0$ $�ளM�$�\0!  
(C)  A 
S0�, R �$� 
(D) A �$�, R 
S0� 

5. f[� - �x�)�N�] : 
f[�  : “�0!$Z�] �� M�� )Z�] �V� �S{M /�)R�)p f��� t”. 

�x�)�N�] : 

I. �0!0�Tt$ e�N�] ��\�)�0$. 

II. �0!0�Tt$ �� V�0ள $ளZM� }n�)t. 
(A) I �RpX �x�)�*T/�V 
(B) II �RpX �x�)�*T/�V 
(C) I �[�X II ��SpX �x�)�*T/�V 
(D) I �\!t II �x�)�*M�$�\0! 
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6. Assertion – Reason : 

A : Max Weber advocated bureaucracy for efficiency. 

R : Bureaucracy ensures clear rules, hierarchy and merit-based promotion.  

(A)  Both true, R explains A 

(B) Both true, R does not explain A 

(C)  A true, R false 

(D) A false, R true 

7. Match the following : 

Mechanism  – Function 

Social Audit →  Citizen review 

Judicial Review →  Legal check 

Ombudsman  →  Complaint redress 

Which mechanism best suits monitoring local programs? 

(A)  Social Audit (B) Judicial Review 

(C)  Ombudsman (D) Zila Parishad 

8. Citizens file an RTI application to know details of budget spending. Which principle of good 
governance is applied? 

(A)  Transparency (B) Accountability 

(C)  Equity (D) Rule of law 

9. Statement : “E-governance improves service delivery.” 

Conclusions : 

I. It reduces delay. 

II. It always ensures equality of access. 

(A)  Only I follows (B) Only II follows 

(C)  Both I and II follow (D) Neither I nor II follow 

10. After joining a highly competitive organization, an employee constantly seeks praise for 
achievements and status symbols. Which need is most active? 

(A)  Self-actualization (B) Esteem 

(C)  Belongingness (D) None of the above  
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6. f[� –  �)��X : 
A : /�Mb .$�Z .��\�� xM�)� ����)�Tt$T0� ���*T�)Z. 

R : ����)�Tt$X .�ள*$)� $����], �n��0! �[�X �e�� �nW�0ட��!)� ��$� 
�Z0$ 


��� .�Y�� t. 
(A) ��SpX 
S0�, R,  A –0$ $�ளMe�� t  
(B) ��SpX 
S0�, R, A –  0$ $�ளM�$�\0!  

(C)  A 
S0�, R �$�   
(D) A �$�, R 
S0� 

7. ��V$�$�$[0 W .�)�T��X : 
��U���X  –  .��\�)p 

�~� ��*M0� →  en�M�] ���W�)Y� 

�+��Tt0  ���W�)Y� →  �Rட ��*�)ZW{ 

e0 �+ZW�)ளZ →  {�)Z �+Z� 


]�Z ��RடN�0ளM �S�)�*M� �U� $#*}0  �� U�t? 
(A) �~� ��*M0� (B) �+��Tt0  ���W�)Y� 

(C)  e0 �+ZW�)ளZ (D) �*\!) ��*&T 

8. �R.�R .�!$��N�ள*V $�$�N�0ள � �� en�M�] RTI $�S�W�T0� �)M�\ 

.�Y�� )Z�]. �\!)R����V �U�M .�)]0� ��V�pT�W�p�� t? 
(A) .$ள*W�0டT�V0� (B) .�)�W{Mf \ 

(C)  ��Tt$X (D) �Rட $��� 

9. f[�  : “�*V�r ��0� /�0$ $#N�0! /�X�pTt�� t.” 
}n��]  : 

I. �t �)��T0�M e0 T�t. 

II. �t �W/�)tX �r�\ ��Tt$T0� 
��� .�Y�� t. 
(A) I �RpX ��V�[��� t 
(B) II �RpX ��V�[��� t 

(C)  I �[�X II ��SpX ��V�[���V t 
(D)  I �\!t II ��V�[ $�\0! 

10. �*��X /�)Rn ��0 U� �� ���$�T��\ /�ZU� �� e, �� �#*�Z .�)டZUt �)�0��] 

�[�X �U�bt ��V�N��M�)�W �)�)R0டT /�p�� )Z. �U�T /�0$ �*��X 

j�j�W�)�t? 
(A) j�-
�Z�\ (B) ��*�)0� 

(C)  .�)U�X (D) /�[�Sட �t��*\0! 



 

 

123/2025-T 

A -6-

11. According to Mintzberg, which of the following is NOT a decisional role of managers? 

(A)  Entrepreneur (B) Resource allocator  

(C)  Disturbance Handler  (D) Monitor  

12. The contingency approach to management emphasizes that : 

(A)  There is one best way to manage 

(B) Managerial actions depend on situational factors  

(C)  Employees must always follow rules  

(D) Scientific management principles apply universally  

13. Which among these principles is central to Total Quality Management (TQM)? 

(A)  Rigid control over employees 

(B) Customer focus and continuous improvement  

(C)  Strict supervision  

(D) Cost reduction at all levels  

14. The utilitarian approach in ethical decision-making proposes to consider : 

(A)  the effect of each decision alternative on all parties and select one that optimises 
the greatest number of people  

(B) an action which is intended to produce a greater ratio of good to bad for an 
individual  

(C)  standards of equity, fairness and utility  

(D) decision that best maintains the rights of those affected by it  

15. Which of the following situations BEST reflects the principle of ‘‘Unity of Command’’? 

(A)  An employee receives instructions from both HR and operations heads 
simultaneously  

(B) A team member is encouraged to follow multiple mentors 

(C)  An employee receives orders from a single supervisor for clarity in responsibility  

(D) Employees are left to self-direct their activities   
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11. �*SRb.�ZM��V f[�W�n, ��V$�$�$[ �\ �t /�!)ளZ�ள*V }n.$pMeX �Ne 

�\!? 
(A) .�)#*\}0�/$)Z (B) $ள �tM�+Rட)ளZ 

(C)  �0ட�� 0��)��$Z (D) �S�)�*W�)ளZ 

12. ��Z$)�T��[�)� �[.��\ �re}0  �0� $���Tt�� t: 
(A) ��Z$��M� �� �� U� $#* 
]ளt 

(B) ��Z$)� �ட$nM0��] k^��0! �)��*�0ளW .�)�T�t 

(C)  �#*�Z�] �W/�)tX $����0ளW ��V�[  /$SpX 
(D) � �$��\ /�!)S0�M .�)]0��] 
!�ள$�\ .�)�UtX 

13. �U�M .�)]0��ள*\ �t .�)T� �� /�!)S0�Me (TQM) 0���)�t? 
(A) �#*�Z�] �+t �p0��)� �RpW�)p 

(B) $)nM0��)ளZ �$�X �[�X .�)டZO���)� }V/�[ X 

(C)  �p0��)� /�[�)Z0$ 
(D) �0�Tt �RடN�ள*�X .�!�M e0 W{ 

14. .� �}0  }n.$pW���\ ��V�)Rp �re}0  ��V$�$�$[0 M ��T��\ .�)]ள 

}V.�)#*�� t: 
(A) �_.$)� }n.$pMeX �)[ +RnV $�0ள� �0�Tt ��W����MeX 
[�p$t 

�[�X ���� �S�*M0���!)� �M�0ள /�X�pTtX �V0 T /�ZU.�pW�t 

(B) �� ��*���Me �\!t .�Rடt �V  ���� $����T0� 
�$)MeX /�)M�X 

.�)Sட �� .��\ 

(C)  ��Tt$X, ���)�X �[�X ��V�)RnV ����0!�] 
(D) �)��M�W�Rட$Z�ள*V 
�*0��0ள �� W�)�W ��)��*MeX }n� 

15. ��V$�X k^��0!�ள*\ �t �� U�t “�Rட0ள �[�0�” �V  .�)]0�0� �������M�� t? 
(A) �� �#*�Z �/� /��T��\ HR �[�X .��\�)RpT �0!$Z�ள*ட�*�Ut 

� ���T�\�0ளW .���� )Z 

(B) �� e� 
�W���Z �! $#*�)Rn�0ளW ��V�[  �Me$�M�W�p�� )Z 

(C)  .�)�W��\ .�ள*�M�)� �� �#*�Z �� /�[�)Z0$�)ள�*ட�*�Ut 


T����0ளW .���� )Z 
(D) �#*�Z�] �N�] .��\�)p�0ள j��)� ��M� �x���M�W�p�� )Z�] 
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16. Which among the list is NOT included in the classification of technology by James 

Thompson? 

(A)  Intensive technology (B) Mediating technology 

(C)  Long-linked technology (D) Long-batch technology 

17. Which of the following is NOT a matching pair regarding leadership styles? 

(A)  Michigan studies – Middle of the Road 

(B) Managerial Grid – Country Club 

(C)  Ohio State Studies – Initiating structure  

(D) Tannenbaum and Schmidt’s Continuum – Authoritarian Leader  

18. Scalar Chain primarily refers to : 

(A)  The vertical flow of authority and communication from top to bottom  

(B) Encouraging Cross-communication in organisations  

(C)  Employees should only communicate through informal network chains  

(D) A network of decisions made collectively by employees  

19. Which Indian authority is responsible for monitoring CSR compliance under the Companies 

Act, 2013? 

(A)  NITI Aayog  

(B) Ministry of Finance  

(C)  Ministry of Corporate Affairs  

(D) Securities and Exchange Board of India (SEBI) 

20. Predicting various future outcomes and making plans is described as : 

(A)  Contingency Planning  (B) Scenario planning 

(C)  Forecasting  (D) Benchmarking  
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16. /�Xb �)X�V .�)#*\vR� $0�W�)Rn\ /�ZM�W�ட)� �Rn�\ �t? 
(A) �+$�� .�)#*\vR�X 

(B) �T���b� .�)#*\vR�X 

(C)  �+Sட-�0�M�W�Rட .�)#*\vR�X 
(D) �+Sட-.�)e�� .�)#*\vR�X 

17. �0!0�Tt$ �)�*�0ளW .�)�T�$0� ��V$�$�$[ �\ �t .�)�U�)t? 
(A) �*O���V �Y��] - �)0!��V �pW�e�� 

(B) /�!)S0� �RடX - �)Rp ��ளW 

(C)  �(�/�) �)��! �Y��] - .�)டM� �0�W{ 
(D) ட)�V�)X �[�X a�*RnV .�)டZO�� - �Z$)���)�T �0!$Z 

18. b/�!Z �N��� }�V0��)�M e �W�t : 
(A) /���Ut �+#)� ����)�X �[�X ��$\.�)டZ{�ள*V .�NeTt �RடX 

(B) ���$�N�ள*\ e�Me .�)டZ0� �Me$�T�\ 

(C)  �#*�Z�] }0 �)�) .�R.$)ZM �N����] ~!X �Rp/� .�)டZ{ .�)]ள 

/$SpX 
(D) �#*�Z�ள)\ fRட)� �pM�W�pX }n��ள*V $0!�0�W{ 

19. ���$�N�] �RடX, 2013 �V �+^ ��M�T��V �+^ CSR ��M�T0� �S�)�*MeX .�)�W{ 

�U� �U��� ����)�*��டX 
]ளt? 
(A) NITI �/�)M 

(B) ���� �0�O��X 

(C)  �)ZW�/�R $�$�)� �0�O��X 
(D) �U��� �T���N�] �[�X ��*$ZT�0� $)�*�X (SEBI) 

20. �\/$� ���Z�)! $�0ள��0ள }V� �$�T�\ �[�X ��RடN�0ள 
�$)Me�\ ��V$��)� 

$�$�*M�W�p�� t : 
(A) �[.��\ ��Rட�*ட\ 

(B) k^��0! ��Rட�*ட\ 

(C)  }V� �$�W{ 
(D) ��W�pT�\ 
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21. Which of the statement(s) is/are correct about the Preamble of the Indian Constitution? 

 (i) The Preamble declares India to be a Sovereign, Socialist, Secular, Democratic, Republic. 

 (ii) The words ‘‘Socialist’’ and ‘‘Secular’’ were part of the original Constitution of 1950. 

 (iii) The Preamble is considered an integral part of the Constitution. 

 (iv) The Preamble can be amended under Article 368. 

(A)  Options (i), (ii) and (iii) are correct 

(B) Options (ii) and (iii) are correct 

(C) Options (i), (iii) and (iv) are correct  

(D) All of the above  

22. Which of the statement(s) is/are correct about the Rajya Sabha? 

 (i) Rajya Sabha is a permanent house and is never subject to dissolution. 

 (ii) One-third of the members of Rajya Sabha retire every second year. 

 (iii) The Vice-President of India is the ex-officio Chairman of the Rajya Sabha. 

  (iv) A Money Bill can be introduced in either House of Parliament, including Rajya Sabha. 

(A)  Options (ii) and (iv) are correct 

(B) Options (i), (ii) and (iii) are correct 

(C)  Options (i) and (iii) are correct 

(D) All of the above  

23. Which of the statement(s) is/are correct about the Governor of an Indian State? 

 (i) The Governor is appointed by the President of India. 

  (ii) The Governor holds office for a fixed term of five years and cannot be removed before 
that. 

  (iii) The Governor acts as a constitutional head of the state and functions on the aid and 
advice of the Council of Ministers. 

  (iv) A Governor may simultaneously be appointed for more than one state. 

(A)  Options (ii) and (iii) are correct  

(B) Options (i), (iii) and (iv) are correct 

(C)  Options (i) and (ii) are correct  

(D) All of the above 
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21. �U��� �����!0�W��V }��0� �[ �� �U� � �M0�(�]) ��*�)�t/��*�)�0$? 
(i) }��0� �U���)0$ �� �0 �)S0�, /�)���, ��O�)Z�[ , ���)��, en��j 

�V� � �$�M�� t 

(ii) “/�)��bR” �[�X “��O�)Z�[ ” �V  .�)[�] 1950 �X �SnV ��\ 

�����!0�W��V �� �e���)� ��U��. 

(iii) }��0� �����!0�W��V ��N��0�U� �e���)�M ���W�p�� t. 

(iv) ���*� 368 �V �+^ }��0�0�T ���T�!)X 
(A) $��W�N�] (i), (ii) �[�X (iii) ��*�)�0$ 
(B) $��W�N�] (ii) �[�X (iii) ��*�)�0$ 

(C)  $��W�N�] (i), (iii) �[�X (iv) ��*�)�0$ 
(D) /�/! 
]ள �0�TtX 

22. �)P� ��)0$W �[ �� �U� � �M0�(�]) ��*�)�t/��*�)�0$? 
(i) �)P���) �� ���U�� �0$ �[�X ��/�)tX �0!M�W�ட)t. 

(ii) �)P���) 
�W���Z�ள*\ ~V �\ �� �Ne �_.$)� ��Sp $�டN��MeX �Y� 

.���� )Z�]. 

(iii) �U��� t0�M en��jT �0!$Z �)��!N�ள0$��V /��nT �0!$�)� 
]ள)Z. 

(iv) �� �/�)�)0$ �)��!N�ள0$ 
R�ட �)ட)��V T��V �U� �0$���X 

� �}�W�pT�!)X. 
(A) $��W�N�] (ii) �[�X (iv) ��*�)�0$ 
(B) $��W�N�] (i), (ii) �[�X (iii) ��*�)�0$  
(C)  $��W�N�] (i) �[�X (iii) ��*�)�0$ 
(D) /�/! 
]ள �0�TtX 

23. �� �U��� �)��!T��V ���0�W �[ �� �U� � �M0�/��Tt�] ��*�)�t/��*�)�0$? 
(i) ���Z �U���M en��jT �0!$�)\ ����*M�W�p�� )Z. 

(ii) ���Z �Ut �Sp�] ��0!�)� �)!T��[e ��$� $��W�)Z, ��[e }V{ �$0� �+M� 

}n�)t. 

(iii) ���Z �)��!T��V �����!0�W{T �0!$�)�O .��\�p�� )Z �[�X �0�O�Z�] 

e�$�V 
�$� �[�X �/!)�0���V /��*\ .��\�p�� )Z. 

(iv) �� ���Z �/� /��T��\ �V�MeX /�[�Rட �)��!N��Me ����*M�W�ட!)X. 
(A) $��W�N�] (ii) �[�X (iii) ��*�)�0$  
(B) $��W�N�] (i), (iii) �[�X (iv) ��*�)�0$ 

(C)  $��W�N�] (i) �[�X (ii) ��*�)�0$ 
(D) /�/! 
]ள �0�TtX 
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24. Which of the following is the correct chronological order of Presidents of India? 

 (i) Dr. S. Radhakrishnan 

 (ii) Dr. Rajendra Prasad 

 (iii) Dr. Zakir Husain 

 (iv) V. V. Giri 

(A)  (ii), (i), (iii) and (iv) (B) (i), (ii), (iii) and (iv) 

(C)  (ii), (iii), (i) and (iv) (D) (iii), (ii), (i) and (iv) 

25. Which of the statement(s) is/are correct about the Fundamental Duties? 

  (i) Fundamental Duties were added by the 42nd Constitutional Amendment Act, 1976. 

  (ii) They are listed under Part V of the Constitution. 

  (iii) At present, there are 11 Fundamental Duties. 

  (iv) Fundamental Duties are not enforceable by law. 

(A)  Options (i) and (ii) are correct 

(B) Options (i), (iii) and (iv) are correct 

(C)  Options (ii) and (iii) are correct 

(D) All of the above  

26. Which of the statement(s) is/are correct about Parliamentary Privileges? 

 (i) Parliamentary privileges are provided in Articles 105 of the Constitution. 

 (ii) They include freedom of speech in Parliament and immunity from legal proceedings for 

speeches made in the House. 

 (iii) These privileges are codified in detail by a specific law passed by Parliament. 

 (iv) Parliamentary privileges are essential to ensure independence and effectiveness of 

legislative functioning. 

(A)  Options (ii) and (iii) are correct 

(B) Options (i) and (iv) are correct 

(C)  Options (i), (ii) and (iv) are correct 

(D) All of the above 
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24. �U��� ��)������ள*V ��*�)� �)!$�*0�W�n ��V$�$�$[ �\ �t? 
(i) ட)MடZ. �b. �)�)���a�V 

(ii) ட)MடZ. �)/�U��� ����)T 

(iii) ட)MடZ. �)��Z (,0�V 

(iv) $�. $�. ���* 
(A) (ii), (i), (iii) �[�X (iv) (B) (i), (ii), (iii) �[�X (iv) 

(C)  (ii), (iii), (i) �[�X (iv) (D) (iii), (ii), (i) �[�X (iv) 

25. �nW�0டM �ட0��] �[ �� �U� � �M0�(�]) ��*�)�t/��*�)�0$? 
(i) 42$t �����!0�W{T ���T�O �RடX 1976 ~!X �nW�0டM �ட0��] /�ZM�W�Rட�. 

(ii)  �0$ �����!0�W��V �e�� V �V �+^ �Rn��டW�Rp]ள�. 

(iii)  �[/�)t, 11 �nW�0டM �ட0��] 
]ள�. 

(iv)  �nW�0டM �ட0��] �RடT�)\ .��\�pT�W�ட }n�)t. 
(A) $��W�N�] (i) �[�X (ii) ��*�)�0$ 

(B) $��W�N�] (i), (iii) �[�X (iv) ��*�)�0$ 

(C)  $��W�N�] (ii) �[�X (iii) ��*�)�0$ 

(D) /�/! 
]ள �0�TtX 

26. �)�)��V  ��0��] �[ �� �U� � �M0�(�]) ��*�)�t/��*�)�0$? 
(i) �����!0�W��V ���*� 105 �\ �)�)��V  ��0��] $#N�W�Rp]ள�. 

(ii) �$[ �\ �)�)��V T��\ /�Oj j�U���X �[�X �0$��\ .�Y�W�pX 


0���M�)� �Rட �ட$nM0��ள*��Ut $�!Me �ள*M�W�p�� t. 

(iii) �U� ��0��] �)�)��V T�)\ ��0 /$[ W�Rட �� e �W��Rட �RடT�)\ $��*$)� 

e ���டW�Rp]ள�. 

(iv) �Rட�V  .��\�)RnV j�U���X �[�X .��\�� 0� 
��� .�Y$�[e �)�)��V  

��0��] �$���X 
(A) $��W�N�] (ii) �[�X (iii) ��*�)�0$ 

(B) $��W�N�] (i) �[�X (iv) ��*�)�0$ 

(C)  $��W�N�] (i), (ii) �[�X (iv) ��*�)�0$ 

(D) /�/! 
]ள �0�TtX 
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27. Who was the first woman to become the President of India? 

(A)  Sarojini Naidu (B) Pratibha Patil 

(C)  Indira Gandhi (D) Sonia Gandhi 

28. Under which Article of the Indian Constitution can Public Interest Litigation (PIL) be filed in 

the High Courts? 

(A) Article 32 (B) Article 136 

(C)  Article 226 (D) Article 368 

29. Which of the following Indian States does not have a State Legislative Council? 

(A)  Uttar Pradesh (B) Maharashtra 

(C)  Bihar (D) Tamil Nadu 

30. Which of the following writs is not explicitly mentioned under Article 32 of the Indian 

Constitution? 

(A)  Habeas Corpus (B) Mandamus 

(C)  Quo Warranto (D) Injunction 

31. To whom does the President of India address his/her resignation letter? 

(A)  Prime Minister of India (B) Vice-President of India 

(C)  Chief Justice of India (D) Speaker of Lok Sabha 

32. Under which Article of the Indian Constitution is the office of the Prime Minister mentioned? 

(A) Article 74 (B) Article 45 

(C)  Article 56 (D) Article 87 
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27. �U���)$�V }�\ .�S ��)����� �)Z? 

(A) �/�)�*�* �)�p (B) ������) �)Ro\ 

(C)  �U���) �)U�� (D) /�)�*�) �)U�� 

28. �U��� �����!0�W��V �U�W ���*$�V �+^ 
�Z �+���V N�ள*\ .�)t �! $#Me�] (PIL) 

�)M�\ .�Y�W�ட!)X? 

(A) ���*� 32 (B) ���*� 136 

(C)  ���*� 226 (D) ���*� 368 

29. ��V$�X �U� �U��� �)��!T��\ �)��! �Rட�V X �\0!? 

(A) 
T��W ���/��X (B) ��)�)an�) 

(C)  z�)Z (D) ��*^�)p 

30. ��V$�X �U� �+��W/��)0� �U��� �����!0�W��V ���*� 32 �V �+^ .$ள*W�0ட�)�M 

e �W��டW�ட$�\0!? 

(A) �R.�)�Z� (B) �V X 

(C)  e/$) $)�S/ட) (D) �0ட 
T��� 

31. �U��� ��)����� ��t �)�*�)�) �n�T0� �)�Me �xW{�� )Z? 

(A) �U���W �����Z (B) �U���T t0�M en��jT �0!$Z 

(C)  �U���T �0!0� �+����� (D) �M�ள0$T �0!$Z 

32. �U��� �����!0�W��V �U�W ���*$�V �+^ �����Z ��$� e �W��டW�Rp]ளt? 

(A) ���*� 74 (B) ���*� 45 

(C)  ���*� 56 (D) ���*� 87 
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33. Which provision of the Constitution of India empowers the Parliament to legislate with 

respect to any matter in the State list if a proclamation of emergency is in operation? 

(A)  Article 250 (B) Article 252 

(C)  Article 254 (D) None of the above 

34. Enforcement of which among the following fundamental rights cannot be suspended during 

proclamation of emergency? 

(A)  Article 14 and 20 (B) Article 19 and 20 

(C)  Article 20 and 21 (D) None of the above 

35. Who is the 26th Chief Election Commissioner of India? 

(A)  Dr. Sukhbir Singh Sandhu (B) Shri. Gyanesh Kumar 

(C)  Shri. Ajaykumar (D) Shri. Narendra Kumar 

36. No person who is a member of a civil service of the Union or an all-India service or a civil 

service of a State or holds a civil post under the Union or a State shall be dismissed or 

removed by an authority subordinate to that by which he was appointed. This clause shall 

not apply  

(i) Where a person is dismissed or removed or reduced in rank on the ground of conduct 

which has led to his conviction on a criminal charge. 

(ii) Where an authority empowered to dismiss or remove a person or to reduce him in rank 

is satisfied that for some reason, to be recorded by that authority in writing, it is not 

reasonably practicable to give to that person an opportunity of showing cause. 

(iii) Where the President or the Governor, as the case may be, is satisfied that in the 

interest of the security of the State it is not expedient to hold such inquiry. 

(iv) All the above 

(A)  (i) (B) (ii) 

(C)  (iii) (D) (iv) 
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33. �$����0! ����ட�X ���\ ��U�)\, �)��!W �Rn��\ 
]ள �U�.$)� $�&�T���X 

�RடX ��[  �U��� �����!0�W��V �U�W ���*� �)ட)��V T��[e ����)�X �ள*M�� t? 
(A) ���*� 250 (B) ���*� 252 

(C)  ���*� 254 (D) /�[f ��0$ �t�X �\0! 

34. �$����0! ����ட�T��V /�)t ��V$�X �nW�0ட 
�*0��ள*\ �$[0  ��\�pTt$t 

�0ட���T�W�ட }n�)t ? 
(A) ���*� 14 �[�X 20 (B) ���*� 19 �[�X 20 

(C)  ���*� 20 �[�X 21 (D) /�[f ��0$ �t�X �\0! 

35. �U���)$�V 26$t �0!0�T /�Z�\ �0��Z �)Z? 

(A) ட)MடZ. jMzZ ��N �Ut (B) �. �)/�a e�)Z 

(C)  �. ��Ye�)Z (D) �. �/�U��� e�)Z 

36. ���! �U��� /�0$ �\!t �� �)��!T��V en0�W ��* �\!t �V ��T��V �+^ en0�W 

��$���\ ��MeX �U�.$)� ���X, �$Z ����*M�W�Rட ����)�T��[eM �+^W�Rட 

����)�T�)\ ��*�+M�X .�Y�W�ட/$) �\!t �+M�W�ட/$) fட)t. �U�W ���*� .�)�U�)t. 
 (i) �� e[ $��\ e[ O�)Rn\ �Sட0�Me $#*$eT� �டTt��*V �nW�0ட��\ ��$Z 

 ��*�+M�X .�Y�W�Rட)/!) �\!t �+M�/$) �\!t ��$���\ e0 M�W�Rட)/!) 

 (ii) �� ��0� ��*�+M�X .�Y�/$) �\!t �+M�/$) �$�t ��$�0� e0 M�/$) 

����)�X .�[  �� ����)�*, �U� ����)�T�)\ ��TtW|Z$�)� ���� .�Y�W�ட 

/$Sn� ��! �)��N�ள)\, �U� ���Me �)��T0�M �)Rட �� $)YW0� $#Ne$t 

���)��)� �0ட}0 Me �)T����*\0! �V� ���W�� �0டU�)\ 

 (iii) �)��!T��V �)t�)W{ �!xM�)� �T�0�� $��)�0�0� �டTt$t 

 .�)�T��)��\! �V� ��)����� �\!t ���Z ���W�� �0டU�)\ 

 (iv) /�[f �� �0�TtX 

(A) (i) (B) (ii) 

(C)  (iii) (D) (iv) 
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37. Article-317 deals with 

(A)  Removal and suspension of a member of a Public Service Commission 

(B) Power to make regulations as to conditions of service of members and staff of the 

Commission 

(C)  Post-Retirement Employment Restrictions of PSC members 

(D) Functions of Public Service Commissions 

38. Doctrine of occupied field is related to the interpretation of  

(A)  Article 14  

(B) Article 21 

(C)  Article 254  

(D) None of the above 

39. Who is the Chairperson of GST Council? 

(A)  Prime Minister   

(B) Union Finance Minister  

(C)  President of India  

(D) None of the above 

40. Judicial review by the high courts was held to be included in the basic structure of the 

constitution of India in  

(A)  Kesavananda Bharati v. State of Kerala 

(B) Minerva Mills v. Union of India 

(C)  S.P. Sampath Kumar v. Union of India 

(D) L. Chandra Kumar v. Union of India and Others  



 

 

123/2025-T 

 A -19-

37. ���*�-317 �$[0 M 0��)]�� t : 
(A) .�)t /�0$ �0��T��V 
�W���0� �+Me�\ �[�X �0ட�+M�X .�Y�\ 

(B) �0��T��V 
�W���Z�] �[�X �#*�Z�ள*V /�0$ ���U�0��] e �T� 

$���}0 �0ள 
�$)MeX ����)�X 

(C)  PSC 
�W���Z�ள*V �Y�MeW ��U0�� /$0!$)YW{ �RpW�)p�] 

(D) .�)t /�0$ �0��N�ள*V .��\�)p�]  

38. �M����*M�W�Rட t0 ��V /�)R�)p : 
(A) ���*� 14  

(B) ���*� 21 

(C)  ���*� 254  

(D) /�[f ��$[ �\ �t��*\0! 

39. GST ��V���V �0!$Z �)Z? 
(A) �����Z 

(B) �T��� ���� �0�O�Z 

(C)  �U���M en��jT �0!$Z 

(D) /�[f ��$[ �\ �t��*\0! 

40. 
�Z �+���V N�ள*V �+��Tt0  ���Y� �U��� �����!0�W��V �nW�0ட �Rட0�W��\ 

/�ZM�W�Rp]ளt : 
(A) /��$)�U� �)��� ���Z. /��ள �)��!X 

(B) �*�Z$) �*\b ���Z. �U��� �V ��X 

(C)  �b.��. �X�T e�)Z ���Z. �U��� �V ��X 

(D) �\. �U��� e�)Z ���Z. �U��� �V ��X �[�X ��  
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41. Kerala faces a growth paradox because : 

(A) Strong exports but low remittances  

(B) Agriculture dominates GSDP 

(C)  Low literacy but high income 

(D) High human development but weak industrial base 

42. Kerala government’s own-tax revenue share compared to the all-states average : 

(A)  Lower than average (B) Higher than average 

(C)  Equal to average (D) Negligible  

43. Which of the following statements about Kerala’s government expenditure composition are 

correct? 

 (1) Salaries, pensions and interest payments consume a major share of expenditure. 

 (2) Capital expenditure consistently dominates over revenue expenditure. 

 (3) High committed expenditure constrains fiscal flexibility. 

(A)  (1) and (2) only 

(B) (2) and (3) only 

(C)  (1) and (3) only 

(D) (1), (2) and (3) 

44. Which feature BEST describes Kerala’s industrial sector historically? 

(A)  Capital-intensive and technology-driven 

(B) Small-scale, resource-based and low-tech 

(C)  Dominated by multinational corporations 

(D) Export-oriented heavy industries 



 

 

123/2025-T 

 A -21-

41. /��ள) $ளZO�� }�S�)R0ட ���Z.�)]�� t 
.��*\ : 

(A) $�$)� 
[�����] ��)\ e0 U� ��X �xW{�\ 

(B) $�$�)�X GSDP-��\ ���M�X .��Tt�� t 

(C)  e0 U� �\$�� �� ��)\ ���� $��)�X 

(D) ���� ��*� $ளZO�� ��)\ �!���)� .�)#*\t0  �nT�ளX 

42. �0�Tt �)��!N�ள*V ��)��*�டV �W��pX/�)t /��ள ����V .�)U� $�* $�$)Y �Ne : 

(A) ��)��*0� $�டM e0 � (B) ��)��*0� $�ட ����X 

(C)  ��)��*Me ��X (D) { M��*M�T�M�t 

43. /��ள ����V .�!$�� �0�W{ �[ �� ��V$�X f[��ள*\ �t ��*�)�t? 
(1) �X�ளX, �Y����X �[�X $Rn .��Tt�\�] .�!$��T��V .��X �N0�W 

��V�pTt��V �. 

(2) $�$)Y .�!$��T0� $�ட ~!��O .�!� .�)டZUt ���M�X .��Tt�� t. 

(3) ���� 
����)� .�!� ���� .���^�T�V0�0�M �RpW�pTt�� t. 

(A) (1) �[�X (2) �RpX  

(B) (2) �[�X (3) �RpX  
(C)  (1) �[�X (3) �RpX  

(D) (1), (2) �[�X (3) 

44. /��ள)$�V .�)#*\t0 0� $�!)[� �+���)� $�$�*MeX �� U� �X�X �t? 

(A) ~!��X �)ZU� �[�X .�)#*\vR�X �)ZU� 

(B) �� �� �ள$�!)�, $ள �nW�0ட��!)� �[�X e0 U� .�)#*\vR�X 

(C)  �V�)Rp ���$�N�ள)\ ���M�X .��T�W�p�� t 

(D) 
[���� �)ZU� ���� .�)#*\�] 
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45. Which of the following statements about the role of foreign remittances in Kerala are correct? 

 (1) Remittances boosted industrial investment significantly. 

 (2) Remittances were largely channelled into housing and consumption. 

 (3) Remittances improved human capital through health and education spending. 

(A)  (1) only 

(B) (1) and (2) only 

(C)  (2) and (3) only 

(D) (1), (2) and (3) 

46. What has been the MOST significant impact of remittances in Kerala? 

(A)  Reducing dependence on agriculture 

(B) Strengthening state government revenues 

(C)  Creating large-scale manufacturing jobs 

(D) Making Kerala’s economy export-led 

47. Which of the following statements BEST describes Kerala’s demographic changes? 

(A)  Rising fertility and high population growth 

(B) High infant mortality and youthful population 

(C)  Expanding workforce due to population boom 

(D) Declining fertility and ageing population 

48. Kerala’s employment data show that agriculture employs far more people than its share in 

GSDP. What does this mismatch imply? 

(A) Agriculture is highly productive  

(B) Labour is under-employed in agriculture 

(C)  Industrialisation has absorbed surplus labour 

(D) Kerala’s economy is still agrarian 
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45. /��ள)$�\ .$ள*�)Rp ��W��*�)[ T��V �Ne �[ �� ��V$�X f[��ள*\ �t ��*�)�t? 
(1) ��W��*�)[ X .�)#*\t0  }��R0ட ��*��)� �����*T�t. 

(2) ��W��*�)[ X .��X�)�X �Rp$��� �[�X v�Z�Me �)[ W�Rடt. 

(3) j�)�)�X �[�X �\$� .�!$��N�] ~!X ��W��*�)[ X ��*� ~!��T0� 

/�X�pT���t. 
(A) (1) �RpX  

(B) (1) �[�X (2) �RpX 

(C)  (2) �[�X (3) �RpX  

(D) (1), (2) �[�X (3) 

46. /��ள)$�\ ��W��*�)[ T��V �*� }M����)� �)M�X �V�? 
(A) $�$�)�T0�O �)ZU���W�0�M e0 T�\ 

(B) �)��! ��j $�$)0� $�W�pTt�\ 

(C)  .��*� �ள$�!)� 
[�T�� /$0!�0ள 
�$)Me�\ 

(D) /��ளT��V .�)�ள)�)�T0� 
[����Me $#*�டTt�\ 

47. /��ள)$�V �M�].�)0� �)[ N�0ள ��V$�X f[��ள*\ �t �� W�)� $�$�*M�� t? 
(A) �����*Tt $�X �����\ �[�X ���� �M�].�)0� $ளZO�� 

(B) ���� e#U0� � W{ �[�X �0ள�Z �M�] .�)0� 

(C)  �M�].�)0� 
[ X �)���)� $��*$0ட�X ��*�)ளZ�] 

(D) e0 Ut $�X �����\ �[�X $��)� �M�] .�)0� 

48. /��ள)$�V /$0!$)YW{ ����] $�$�)�X .�)T� 
]�)Rp 
[�T����\ ��V �N0� $�ட 

�����)� �M�0ள /$0!Me ��ZTt�� t �V�0�M �)Rp�� t. �U� .�)�T��*V0� 

�0�M e �M�� t? 
(A) $�$�)�X ���� 
[�T��T �� V .�)Sடt 

(B) $�$�)�T��\ .�)#*!)ளZ��Me /$0! e0 � 

(C)  .�)#*\���)M�\ 
��* 
0#W0� 
 �Q���]ளt 

(D) /��ள)$�V .�)�ள)�)�X �VxX $�$�)�X �)ZU�t 
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49. Consider the following data on Education and Employment in Kerala : 

Education Level  Share in Labour

Force (%) 

Unemployment Rate 

(%) 

Below secondary 40 4 

Secondary/Higher secondary 35 10 

Graduate and above 25 18 

Which conclusion is MOST valid? 

(A)  Kerala’s unemployment problem is concentrated among the educated  

(B) Higher education guarantees employment  

(C)  Less educated workers face the highest unemployment risk 

(D) Unemployment rates are evenly spread across groups 

50. Kerala’s poverty level is the lowest in India (Multidimensional Poverty Index = 0.002). Which 

interpretation aligns BEST with this finding? 

(A)  Kerala has the highest per capita GSDP among all states 

(B) High remittances alone explain the poverty reduction 

(C)  Strong social provisioning and human development outcomes sustain low poverty 

(D) Kerala’s fiscal deficit is minimal compared to other states 

51. Kerala’s net sown area has steadily declined since 1980-81. Which policy concern arises from 

this? 

(A)  Decline in agricultural exports 

(B) Increasing employment in agriculture 

(C)  Decline in rainfall patterns 

(D) Urbanisation and land-use change impacting food security 
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49. /��ள)$�\ �\$� �[�X /$0!$)YW{ e �T� ��V$�X ����0ளM �$�*�N�] : 

�\$� ��0! .�)#*!)ளZ  
$ளT��V �Ne (%)

/$0!��V0� 

 $����X (%) 

��Sட)X ��0! 40 4 

��Sட)X ��0!/
�Z��0!  35 10 

�Rட�)�* �[�X ��[e /�[�Rட$ZMe 25 18 

�U� }n� �*��X .�\��n�)eX? 
(A) /��ள)$�V /$0!��V0� ���O�0� �nT�$Z�ள*0ட/� e$�Ut]ளt 

(B) 
�Z�\$� /$0!$)YW0� 
��� .�Y�� t 

(C)  e0 U� �\$� .�[  .�)#*!)ளZ�] ���� /$0!��V0� ��)�T0� 

���Z.�)]��V � 
(D) /$0!��V0� $����N�] e�M�ள*0ட/� ���)� ��$��]ள� 

50. /��ள)$�V $�0� ��0! �U���)$�\ �*�M e0 � (�! ��*�)� $�0� e ��p = 0.002). 

�U�M �Sp��nW{டV �U� $�ளM�X �� W�)� �TtW/�)�� t? 
(A) /��ள) �0�Tt �)��!N�ள*�X �*� 
�ZU� ��*��Z .�)T� 
]�)Rp 


[�T��0�M .�)Sp]ளt  

(B) ���� ��X �xW{�\ �Rp/� $�0�M e0 W0� $�ளMe�� t 

(C)  $�$)� �~� $#N�\ �[�X ��*� /�X�)Rp $�0ள��] e0 U� $�0�0� 

��0!���Tt��V �. 
(D) /��ள)$�V ����W �[ )Me0  �[  �)��!N��டV �W��pX/�)t �*� e0 � 

51. /��ள)$�V ���� $�0�W{W ��W�ள� 1980-81 }�\ �nW�n�)�M e0 Ut $��� t. 

�����Ut �U�M .�)]0� �$0! ���� t? 
(A) $�$�)� 
[������\ ��*� 

(B) $�$�)�T��\ /$0!$)YW{ �����*W{ 

(C)  �0#W.�)#*� }0 �ள*\ ��*� 

(D) 
��W �)t�)W0� �)��MeX ������)M�\ �[�X ��! ��V�)Rp �)[ X 
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52. Kerala’s irrigation statistics show wells are the largest source of irrigation. What is the 

critical implication of this reliance? 

(A)  Dependence on rainfall has increased 

(B) Groundwater depletion risks make agriculture unsustainable 

(C)  Irrigation is evenly distributed across all sources 

(D) Kerala no longer requires government canals 

53. The 2025-26 Budget of the Kerala government emphasizes reducing fiscal stress primarily 

through : 

(A)  Mobilising higher own-tax revenue 

(B) Expanding foreign loans 

(C)  Reducing welfare expenditure 

(D) Cutting education spending 

54. Kerala’s fiscal deficit target for 2025-26 is around : 

(A)  Below 1% of GSDP  

(B) 1–2% of GSDP 

(C)  3.4% of GSDP  

(D) 4.1% of GSDP 

55. Which measure reflects Kerala’s focus on climate resilience? 

(A) Large-scale coal-based power projects  

(B) Renewable energy and green transport initiatives 

(C)  Deforestation to expand agriculture 

(D) Reducing investment in coastal protection 



 

 

123/2025-T 

 A -27-

52. /��ள)$�V �+ZW�)�� {]ள*$�$�N�] �����]�)V �)��T��[�)� �*�W.��*� ��)�X 

�V�0�M �)Rp��V �. �U� �)Z��V }M��� �)M�X �V�? 
(A) �0#0� �)ZU���W�t �����*Tt]ளt 

(B) ��!T�n �+Z e0 W{ ��)�N�] $�$�)�T0� ��0!T�V0��[ �)� 

�Me��V � 

(C)  �0�Tt ��)�N�ள*�X �+ZW�)��X ���)� $���/�)��M�W�p�� t 

(D) /��ள)$�[e ��* ���)N� �)\$)Y�] /�0$��\0! 

53. /��ள ����V 2025-26 �R.�R ���� ��T�T0�M e0 W�0� }�V0��)� $���Tt�� t : 

(A) ���� .�)U� $�* $�$)0�T ���Rp�\ 

(B) .$ள*�)RpM �டV�0ள $��*��pTt�\ 

(C)  �!T��RடO .�!$��N�0ளM e0 T�\ 

(D) �\$�O .�!$��N�0ளM e0 T�\ 

54. 2025-26 �X �Sn[�)� /��ள)$�V ����W �[ )Me0  �!Me j�)Z : 

(A) GSDP-��\ 1%MeX e0 $)� 

(B) GSDP-��\ 1–2% 

(C)  GSDP-��\ 3.4% 

(D) GSDP-��\ 4.1% 

55. /��ள)$�V �$�X �)!��0! �+]�V0�0� �U� �ள�p �������M�� t? 
(A) .��*� �ள$�!)� ��!M��* �nW�0ட��!)� �*V ��RடN�] 

(B) {tW��M�T�M� ��*�M�� �[�X �j0� /�)Me$�Tt }�[���] 

(C)  $�$�)�T0� $��*��pT� �)ட#*W{ 

(D) �ட/!)�W �)t�)W��\ }��R0டM e0 T�\ 
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56. Which among the following explains the paradox of the Kerala model? 

(A)  High unemployment despite high literacy and social development 

(B) High industrialisation but low per capita income 

(C)  High per capita income but low inequality 

(D) High birth rate and low infant mortality 

57. Which of the following are part of Kerala’s Startup Mission initiatives to promote innovation? 

 (i) Innovation Grant 

 (ii) R&D Grant 

 (iii) Technology Commercialisation Support for Women 

Options : 

(A)  (i) only (B) (i) and (ii) only 

(C)  (i), (ii) and (iii) (D) (i) and (iii) only 

58. Which factor most strongly distinguishes Kerala’s development experience from many other 
states? 

(A)  High income inequality 

(B) Social development first, growth later 

(C)  Export-led manufacturing growth 

(D) Heavy privatisation of education 

59. The rise of the knowledge economy and startups in Kerala is often referred to as a move 
towards : 

(A)  Agricultural self-sufficiency 

(B) Brain drain 

(C)  Brain gain and innovation-led growth 

(D) Decline of remittances 

60. Kerala’s life expectancy, according to SRS data, 2019-21, is approximately : 

(A)  63 years (B) 69 years 

(C)  75 years (D) 82 years 
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56. ��V$�$�$[ �\ �t /��ள �)���*��V }�S�)R0ட $�ளMe�� t? 
(A) ���� �\$�� �� �[�X �~� $ளZO�� ��U�/�)���X ���� /$0!��V0�  
(B) ���� .�)#*\���)M�\ ��)\ e0 U� ��*��Z $��)�X 

(C)  ���� ��*��Z $��)�X ��)\ e0 U� ��Tt$�*V0� 
(D) ���� �� W{ $����X �[�X e0 U� e#U0� � W{ 

57. {t0��0ள �Me$�W��[�)� /��ள)$�V bட)ZR�W �*&V }�[���ள*\ 

��V$�$�$[ �\ �0$ �டNeX? 
(i) {t0� �)�*�X 

(ii) ��)YO�� �[�X /�X�)Rp �)�*�X 

(iii) .�)#*\vR� $�*����)M�\ .�S��M�)� ����  

$��W�N�] : 
(A) (i) �RpX 
(B) (i) �[�X (ii) �RpX 

(C)  (i), (ii) �[�X (iii) 
(D) (i) �[�X (iii) �RpX 

58. /��ள)$�V $ளZO�� �x�$T0� �! �)��!N�ள*��Ut �*��X $�$)� /$��pTtX 

�)��* �t? 
(A) ���� $��)� ��Tt$�*V0�  
(B) }��\ �~� /�X�)p, ��V�Z $ளZO��   

(C)  
[���� �)ZU� 
[�T�� $ளZO�� 
(D) �\$���V �p0��)� ��*�)Z���)M�\ 

59. /��ள)$�\ � ���)Z .�)�ள)�)�X �[�X .�)டM���0! ���$�N�ள*V ��O�� .��X�)�X 

�$[0  /�)M��� ��Z$)�M e �W��டW�p�� t : 
(A) $�$�)� �V�*0 � 
(B) ~0ள $n�)\ 

(C)  ~0ள ��)�X �[�X {t0� �)ZU� $ளZO�� 
(D) ��X �xW{$��\ ��*� 

60. SRS ����ள*V�n, 2019-21, /��ள)$�V ��R�)!X /�)�)��)� : 
(A) 63 �Sp�] (B) 69 �Sp�] 

(C)  75 �Sp�] (D) 82 �Sp�] 
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61. Which programme is Kerala’s flagship initiative for women’s empowerment? 

(A)  Kudumbashree (B) Beti Bachao Beti Padhao 

(C)  SEWA (D) Janani Suraksha Yojana 

62. According to NITI Aayog’s Health Index 2021–22, Kerala’s Infant Mortality Rate (IMR) is : 

(A)  Higher than the national average (B) Lower than the national average 

(C)  Equal to the national average (D) Not recorded 

63. Which of the following was not among the four missions of the 13th Plan? 

(A)  High-quality school education 

(B) Aardram–people-friendly health facilities 

(C)  Haritha Keralam –  environment-friendly development 

(D) Digital India Mission 

64. According to the CDS-UN (1975) study, what was the primary contribution of Kerala’s 

educational policies? 

(A)  Promoted industrial growth 

(B) Ensured universal higher education 

(C)  Promoted vertical social mobility across socio-economic strata 

(D) Increased private schooling opportunities 

65. The knowledge economy in Kerala is linked to : 

(A)  IT parks and higher education expansion 

(B) Agricultural reforms 

(C)  Remittance flows 

(D) Small-scale fisheries 
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61. .�S�] ����)��ள*W��[�)� /��ள)$�V }�V0��)� }�[�� �t? 
(A) epX�� (B) /�Rn �O�)_ /�Rn ��)/$) 

(C)  /�$) (SEWA) (D) ���* j�L) /�)��) 

62. ���� �/�)M��V j�)�)� e ��p 2021–22 �V �n, /��ள)$�V e#U0� � W{ $����X (IMR) : 
(A) /���� ��)��*0� $�ட �����)� (B) /���� ��)��*0� $�ட e0 $)� 

(C)  /���� ��)��*Me ��X (D) ���� .�Y�W�ட$�\0! 

63. 13$t ��RடT��V �)Ve ��*�ள*\ ��V$�$�$[ �\ �t �\0!? 
(A) 
�Z�� �]ள*M �\$� 

(B) �ZT�X–�M�] �R{ j�)�)� $����] 

(C)  (�*� /��ளX–j[�Ok#�Me 
�U� /�X�)p 

(D) n�*Rட\ �U���) �*&V 

64. CDS-UN (1975) �Y$�V�n, /��ள)$�V �\$�M .�)]0��ள*V }�V0� �N�ள*W{ �V�? 
(A) .�)#*\t0  $ளZO��0� �Me$�T�t 

(B) 
!�ள)$�� 
�Z�\$�0� 
��� .�Y�t 

(C)  �~�-.�)�ள)�)� �pMe�ள*\ .�NeTt �~� ��M�T0� �Me$�T�t 

(D) �����*T� ��*�)Z �]ள* $)YW{�] 

65. /��ள)$�\ � ���)Z .�)�ள)�)�X ��xடV �0�M�W�Rp]ளt : 
(A) �n |N�)M�] �[�X 
�Z�\$� $��*$)M�X 

(B) $�$�)� �+Z���T�N�] 

(C)  ��X �xW{�\ 

(D) ��� �ள$�!)� �+V$ளX 
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66. Which of the following rights were emphasised in Kerala’s Transgender Persons’ Policy? 

(i) Right to equality and freedom of expression 

(ii) Right to dignity and life without violence 

(iii) Right to employment and equal access to education, training and health 

Options : 

(A)  (i) only (B) (i) and (ii) only 

(C)  (i) and (iii) only (D) (i), (ii) and (iii) 

67. Which crops in Kerala are most sensitive to fluctuations in the global economy? 

(A)  Rubber and spices (B) Cotton and jute 

(C)  Ragi and coconut (D) Sugarcane and tobacco 

68. Kerala provides startups with early-stage support in the form of : 

(i) Innovation grants 

(ii) Seed loans 

(iii) Patent support 

(iv) R and D grants 

(A)  (i), (ii), (iii) only (B) (ii), (iii), (iv) only 

(C)  (i), (ii), (iii), (iv) (D) (i), (iv) only 

69. Which of the following was more systematically developed in the 13th Five-Year Plan in 

Kerala? 

(A)  Decentralised planning (B) Kudumbashree programme 

(C)  Child protection schemes (D) Gender budgeting 

70. Ageing population in Kerala is considered a challenge mainly because : 

(A)  It reduces literacy levels 

(B) It increases the dependency ratio 

(C)  It reduces life expectancy 

(D) It leads to the migration of youth abroad 
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66. /��ள)$�V ����N0��] .�)]0���\ ��V$�X 
�*0��ள*\ �0$ $���T�W�Rட�? 
(i) ��Tt$X �[�X ��Tt j�U���T��[�)� 
�*0� 

(ii) �S�*�T��[�)� 
�*0� �[�X $V}0 ��\!) $)^M0�  

(iii) /$0!$)YW{ �[�X �\$�, ���[�� �[�X j�)�)�T��[�)� ���)� �r��M�)� 


�*0� 

$��W�N�] : 
(A) (i) �RpX (B) (i) �[�X (ii) �RpX 

(C)  (i) �[�X (iii) �RpX (D) (i), (ii) �[�X (iii) 

67. /��ள)$�\ �U� ���Z�] 
!�W .�)�ள)�)�T��\ 
[�pX 
[  � M�N��Me �*��X 


�Z�� V .�)Sட0$? 
(A) �W�Z �[�X ��)!)W .�)�R�] (B) ��T�� �[�X ��\ 

(C)  /�^$�e �[�X /�N�)Y (D) ��X{ �[�X {0���0! 

68. /��ள) .�)டM� ���$�N��Me  ��X� �Rட ���0$ ��V ~!X $#Ne�� t : 
(i) {t0� �)�*�N�] 

(ii) $�0� �டV�] 

(iii) �)W{�*0� ���� 

(iv) ��)YO�� �[�X /�X�)Rp �)�*�N�] 
(A)  (i), (ii), (iii) �RpX (B) (ii), (iii), (iv) �RpX 

(C)  (i), (ii), (iii), (iv)  (D) (i), (iv) �RpX 

69. /��ள)$�\ 13$t �U�)SpT ��RடT��\ ��V$�$�$[ �\ �t �*��X }0 �)� 


�$)M�W�Rடt? 
(A) ��$!)M�W�Rட ��Rட�*ட\ (B) epX�� ��RடX 

(C)  e#U0��] �)t�)W{T ��RடN�] (D) �)�� �R.�R 

70. /��ள)$�\ $��)� �M�] .�)0� �� �$)!)�M ���W�p�� t, 
.��*\ : 
(A) �t ��T� �� �ள0$M e0 M�� t 

(B) �t �)Z{ $����T0� �����*M�� t 

(C)  �t ��R�)!T0�M e0 M�� t 
(D) �t �0ள�Z�] .$ள*�)p��Me �டX.��� $#*$eM�� t 
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71. According to the Environmental Protection Agency (EPA), which one of the following is the 
largest source of Sulphur dioxide emissions? 

(A)  Locomotives using fossil fuels (B) Ships using fossil fuels 

(C)  Extraction of metals from ores (D) Power plants using fossil fuels 

72. Which is considered as the first Environmental movement in India? 

(A)  Chipko movement (B) Appiko movement 

(C)  Lok Satta movement (D) Narmada Bachao Andolan 

73. Consider the following statements : 

(1) ‘‘The Climate Group” is an international non-profit organization that drives climate 
action by building large networks and runs them. 

(2) The International Energy Agency in partnership with the Climate Group launched a 
global initiative “EP100”. 

(3) EP100 brings together leading companies committed to driving innovation in energy 
efficiency and increasing competitiveness while delivering on emission reduction goals. 

(4) Some Indian companies are members of EP100. 

(5) The International Energy Agency is the Secretariat to the “Under2 Coalition”. 

Which of the statements given above are correct? 

(A)  (1), (2), (4) and (5) (B) (1), (3) and (4) only 

(C) (2), (3) and (5) only (D) (1), (2), (3), (4) and (5) 

74. What is the primary goal of green auditing? 

(A)  To evaluate financial performance 

(B) To assess environmental impact and sustainability 

(C)  To ensure compliance with tax laws 

(D) To improve employee moral 

75. What is the primary purpose of a wildlife sanctuary in India? 

(A)  To provide habitat for exotic animals 

(B) To promote eco-tourism 

(C)  To conserve and protect wildlife and their habitats 

(D) To conduct scientific research 
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71. j[�Ok#\ �)t�)W{ ���$�T��V (EPA) f[�W�n, ��V$�$�$[ �\ �t �\�Z 0ட 

�M0�p .$ள*/�[ T��V �*�W.��*� ~!�)eX? 
(A) {0��n$ ��*.�)�R�0ளW ��V�pTtX �V�*V�]  

(B) {0��n$ ��*.�)�R�0ளW ��V�pTtX �W�\�] 

(C)  �)tM�ள*��Ut 
/!)�N�0ளW ���*T.�pT�\ 
(D) {0��n$ ��*.�)�R�0ளW ��V�pTtX �*V 
[�T�� ��0!�N�] 

72. �U���)$�V }�\ j[�Ok#\ ��M��)�M ���W�p$t �t? 
(A) ��W/�) ��M�X (B) �W��/�) ��M�X 

(C)  /!)M �T�) ��M�X (D) �Z��) �O�)_ �U/�)!V 

73. ��V$�X f[��0ளM �$�*�N�] : 
(1) ‘�� M0ள/�R e�W’ �V�t .��*� .�R.$)ZMe�0ள 
�$)Me$�V ~!X �)!��0! 

�ட$nM0��0ள ��M�� �$[0  ��MeX �� �Z$/�� �!)� /�)M�[  �0�W�)eX 

(2) �Z$/�� ��*�M�� ���$�X, �)!��0! e��TtடV �0�Ut, 
!�ள)$�� }�[���)� 

“EP100” �T .�)டN���t 

(3) EP100, ��*�M�� �� V �[�X 
�*^� e0 W{ �!Me�0ள �0ட$��\ {t0��0ள 

��Me$�[eX /�)RnT�V0�0� �����*W��[eX 
���|Sp]ள }V��* 

���$�N�0ள �V �0�M�� t 

(4) ��! �U��� ���$�N�] EP100 �\ 
�W���Z�ள)� 
]ள� 

(5) �Z$/�� ��*�M�� ���$�X “Under2 fRட�*��V” .��!��)eX. 

/�/! .�)pM�W�Rp]ள f[��ள*\ �0$ ��*�)�0$? 
(A) (1), (2), (4) �[�X (5) (B) (1), (3) �[�X (4) �RpX 

(C)  (2), (3) �[�X (5) �RpX (D) (1), (2), (3), (4) �[�X (5) 

74. �j0� ��*M0���V }�V0� �!Me �V�? 
(A) ���� .��\�� 0� ���W��p�\ 

(B) j[�Ok#\ �)M�X �[�X ��0!T�V0�0� ���W��p�\ 

(C)  $�*O �RடN��டV ��Ne$0� 
��� .�Y�\ 
(D) �#*�Z�ள*V ��M�T0� /�X�pTt�\ 

75. �U���)$�\ $�$�!Ne ���)!�T��V }�V0� /�)M�X �V�? 
(A) .$ள*�)Rp $�!Ne��Me $)^$�டT0� $#Ne�\ 

(B) j[�Ok#\ j[�!)0$ �Me$�T�\ 

(C)  $�$�!Ne�0ள�X �$[ �V $)^$�டN�0ள�X �)t�)Tt �)t�)T�\ 
(D) � �$��\ ��)YO�� �டTt�\ 
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76. Consider the following statements regarding Air Pollution and related initiatives : 

(1) The “National Clean Air Programme (NCAP)” launched by the Government of India 
aims to reduce particulate matter (PM 2.5 and PM 10) concentrations by  
20-30% in 131 non-attainment cities by 2024 (with 2017 as the base year) 

(2) The ‘‘Aerosol Optical Depth (AOD)” data from ISRO’s satellites is used to monitor air 
pollution levels over India 

(3) The “System of Air Quality and Weather Forecasting and Research (SAFAR)” is 
developed by the Ministry of Environment, Forest and Climate Change (MoEFCC). 

(4) The ‘‘Polluter Pays Principle’’ is enshrined in the Environment Protection  
Act, 1986. 

Which of the statements given above are correct? 

(A)  (1) and (2) only (B) (1) and (4) only  

(C)  (2) and (3) only (D) (1), (2), (3) and (4) 

77. What are the key stages of the EIA process? 

(A)  Screening, scoping, impact prediction, mitigation and monitoring 

(B) Impact prediction, mitigation and monitoring 

(C)  Screening, scoping and impact prediction 

(D) Mitigation and monitoring 

78. Which Act is considered as umbrella legislation for environmental protection in India? 

(A)  Wildlife Protection Act, 1972 

(B) Environment Protection Act, 1986 

(C)  Forest Conservation Act, 1980 

(D) Water (Prevention and Control of Pollution) Act, 1974 

79. What are the primary sources of Particulate Matter (PM) pollution in urban areas and what 
are the potential health effects of exposure to PM? 

(A)  Industrial emissions and vehicular emissions, with potential health effects 
including respiratory problems and cardiovascular disease 

(B) Agricultural activities and natural disasters, with potential health effects 
including respiratory problems and cancer 

(C)  Domestic waste and construction activities, with potential health effects including 
respiratory problems and neurological damage 

(D) All of the above 

80. What are the key considerations for sustainable infrastructure development? 

(A)  Environmental sustainability and social responsibility 
(B) Economic viability and technical feasibility 
(C)  Institutional capacity and governance 
(D) All of the above 
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76. �)[� �)j�)p �[�X .�)டZ{0ட� }�[���] .�)டZ�)� ��V$�X � �M0��0ளM 
�$�*�N�] : 
(1) �U��� ���)N�T�)\ .�)டN�W�Rட “/���� jT��)� �)[�T ��RடX (NCAP)”, 2024 �X 

�Sn[e] (2017 � �nW�0ட �Sட)�M .�)Sp) 131 �0ட�)� ���N�ள*\ t�] 

.�)�] (PM 2.5 �[�X PM 10) .� ���0ள 20-30% e0 W�0� /�)M��)�M 

.�)Sp]ளt. 

(2) �b/�)$�V .��[0�M/�)]�ள*��Ut .� W�Rட “
/�)�\ �Wn�\ �#X (AOD)” 
���, �U���)$�\ �)[� �)j�)RnV �ள0$M �S�)�*M�W ��V�p�� t. 

(3) “�)[ �V ��X �[�X $)�*0! }V� �$�W{ �[�X ��)YO�� �0�W{ (SAFAR)” 

j[�Ok#\, $�X �[�X �)!��0! �)[  �0�O��T�)\ (MoEFCC) 
�$)M�W�Rடt. 

(4) “�)j�pTt�$Z .��TtX .�)]0�” �V�t j[�Ok#\ �)t�)W{O �RடX, 1986 �\ 
.�) �M�W�Rp]ளt. 

/�/! .�)pM�W�Rp]ள f[��ள*\ �0$ ��*�)�0$? 
(A) (1) �[�X (2) �RpX (B) (1) �[�X (4) �RpX 
(C)  (2) �[�X (3) �RpX (D) (1), (2), (3) �[�X (4) 

77. EIA .��\}0 ��V }M��� �RடN�] �)0$? 
(A) ��0���ட\, b/�)W��N, �)M� }V��*W{, ��*W{ �[�X �S�)�*W{ 
(B) �)M� }V��*W{, ��*W{ �[�X �S�)�*W{ 
(C)  ��0���ட\, b/�)W��N �[�X �)M� }V��*W{ 
(D) ��*W{ �[�X �S�)�*W{ 

78. �U���)$�\ j[�Ok#\ �)t�)W��[�)� �� .�)t$)� �Rட�)� �U�O �RடX ���W�p�� t? 
(A) $�$�!Ne �)t�)W{O �RடX, 1972 
(B) j[�Ok#\ �)t�)W{O �RடX, 1986 
(C)  $�W �)t�)W{O �RடX, 1980 
(D) �+Z (�)j�)R0டT �pT�\ �[�X �RpW�pTt�\) �RடX, 1974 

79. ��ZW{ N�ள*\ t�] �)j�)RnV }�V0� ��)�N�] �)0$ �[�X PM .$ள*W�)RnV 
�)T����)� j�)�)� $�0ள��] �V�? 

(A) .�)#*\t0  
�*^��] �[�X $)�� 
�*^��], j$)�W ���O��0��] �[�X 
���� /�)Y 
]ள*Rட �)T����)� j�)�)� $�0ள��] 

(B) $�$�)� �ட$nM0��] �[�X ��[0� /��#*��], j$)�W ���O��0��] �[�X 
{[�/�)Y 
]ள*Rட �)T����)� j�)�)� $�0ள��] 

(C)  �RpM �#*��] �[�X �Rp�)� �ட$nM0��], j$)�W ���O��0��] �[�X 
��X���\ /��X 
]ள*Rட �)T����)� j�)�)� $�0ள��] 

(D) /�[f �� �0�TtX 

80. ��0!�)� 
]�Rட0�W{ /�X�)Rn[�)� }M��� ��*� +!0��] �)0$? 
(A) j[�Ok#\ ��0!T�V0� �[�X �~�W .�)�W{ 
(B) .�)�ள)�)� �X��T�V0� �[�X .�)#*\vR� �)T���Mf� 
(C)  ���$�T �� V �[�X ��Z$)�X 
(D) /�[f �� �0�TtX 
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81. Which of the following distinguishes structural mitigation from non-structural mitigation in 
disaster management?  

(A)  Structural mitigation reduces human vulnerability through awareness, while non-
structural focuses on engineering solutions 

(B) Structural mitigation involves physical infrastructure measures, while non-
structural involves policies, planning and capacity building 

(C)  Structural mitigation deals only with earthquakes, while non-structural deals 
with floods and cyclones 

(D) Both structural and non-structural mitigation involve only post-disaster 
reconstruction 

82. In the disaster Management Cycle, which stage primarily focuses on building resilience 
before a disaster occurs? 

(A)  Preparedness (B) Response 

(C)  Mitigation (D) Recovery 

83. Which among the following is NOT a primary function of the National Institute of Disaster 
Management (NIDM)? 

(A)  Capacity, building and training programs 

(B) Research and documentation on disasters 

(C)  Commanding and deploying the NDRF 

(D) Developing national-level guidelines for disaster management 

84. During the response phase, the Incident Command System (ICS) is crucial because : 

(A)  It centralizes all decision-making under the Prime Minister’s authority 

(B) It provides a standardized flexible structure for coordinating multiple agencies at 
different disaster sites 

(C)  It replaces local governance systems with military-led disaster response 

(D) It is primarily concerned with long-term rehabilitation after a disaster 

85. Which of the following scenarios best demonstrates the difference between response and 
recovery phases of disaster management? 

(A)  Building cyclone shelters vs. issuing evacuation orders 

(B) Conducting mock drills vs. enforcing land-use zoning 

(C)  Providing temporary shelters after floods vs. rebuilding permanent housing 

(D) Installing warning systems vs. distributing relief materials 
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81. /��*டZ /�!)S0���\ �Rட0�W{ �+���)� ��*W����Ut �Rட0�W{ �)�) ��*W0� 

��V$�$�$[ �\ �t /$��pTt�� t? 
(A) �Rட0�W{ �+���)� ��*W{ $�#*W{�Z� ~!X ��*� �)��W0�M e0 M�� t, �/� 

/��T��\ �Rட0�W{ �)�) ��*W{ .�) ����\ �+Z��ள*\ �$�X .��Tt�� t 
(B) �Rட0�W{ �+���)� ��*W{ 
ட\ 
]�Rட0�W{ �ட$nM0��0ள 
]ளடM���t, 

�/� /��T��\ �Rட0�W{ �)�) ��*W{ .�)]0��], ��Rட�*ட\ �[�X �� V 

/�X�)R0ட 
]ளடM���t 
(C)  �Rட0�W{ �+���)� ��*W{ |�X�N�0ள �Rp/� 0��)��� t, �/� /��T��\ 

�Rட0�W{ �)�) ��*W{ .$]ளX �[�X k )$ள*�0ளM 0��)��� t 
(D) �Rட0�W{ �+���)� �[�X �Rட0�W{ �)�) ��*W{ ��SpX /��*ட�MeW ��U0�� 

���Rட0�W0� �Rp/� 
]ளடM���t 

82. /��*டZ /�!)S0� j#[����\, /��*டZ 
[�p$�[e }V{ �+]�V0�0� 
�$)Me$��\ �U� 

��0! }�V0��)� �$�X .��Tt�� t? 
(A) ��)Z ��0! (B) ���\ 

(C)  ��*W{ (D) �+R{ 

83. ��V$�$�$[ �\ �t /���� /��*டZ /�!)S0� ���$�T��V (NIDM) }�V0� .��\�)p 

�\!? 
(A) �� V, �RnடX �[�X ���[�� ��RடN�] 
(B) /��*டZ�] e �T� ��)YO�� �[�X �$�N�] 

(C) NDRF � �Rட0ள��p�\ �[�X ��V�pTt�\ 
(D) /��*டZ /�!)S0�M�)� /���� �ள$�!)� $#*�)Rp�\�0ள 
�$)Me�\ 

84. ��.�)#* �RடT��\, �X�$ �Rட0ள �0�W{ (ICS) }M����)�t, 
.��*\ : 
(A) �t �0�Tt }n.$pW0��X ������*V ����)�T��V �+̂  0��W�pTt�� t 
(B) �\/$� /��*டZ �ளN�ள*\ �! ���$�N�0ள ��N��0�W��[�)� 

��W�pT�W�Rட .���^$)� �Rட0�W0� �t $#Ne�� t 
(C)  �t 
]�Z ��Z$)� �0�W{�0ள ��)r$T�)\ $#*�டT�W�pX /��*டZ 

���!ள*W{டV �)[��� t 
(D) �t }�V0��)� /��*ட�MeW �� e �+Sட�)! ��$)^$�\ �M�0  

.�)Sp]ளt 
85. /��*டZ /�!)S0���V ��.�)#* �[�X �+R{ �RடN��Me �0ட��!)� /$��)R0ட 

��V$�X k^��0!�ள*\ �t �� W�)�M �)Rp�� t? 
(A) k )$ள* �Ne�*டN�0ள �Rp�\ vs. .$ள*/�[  
T����0ள $#Ne�\ 
(B) /�)� ���[���0ள �டTt�\ vs. ��! ��V�)Rp �Sட!T0� .��\�pTt�\ 

(C)  .$]ளT��[eW �� e �[�)�� �Ne�*டN�0ள $#Ne�\ vs . ���U�� �p�0ள 

�+SpX �Rp�\ 
(D) �O��*M0� �0�W{�0ள �����\ vs. ��$)��W .�)�R�0ள $���/�)��T�\ 
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86. Which key principle differentiates the National Disaster Response Force (NDRF) from the 
State Disaster Response Force (SDRF)? 

(A)  NDRF is under Ministry of Defence, SDRF is under State Police 

(B) NDRF is centrally controlled and specialized, while SDRF is state-level and 
adapted to local hazards 

(C)  NDRF deals only with natural disasters, SDRF deals with man-made disasters 

(D) NDRF is temporary, SDRF is permanent 

87. The Sendai Framework for Disaster Risk Reduction (2015-2030) emphasizes which of the 
following as its primary shift in approach compared to the Hyogo Framework? 

(A)  More focus on post-disaster humanitarian relief 

(B) Stronger emphasis on proactive risk reduction and resilience building 

(C)  Exclusive concentration on climate change adaptation 

(D) Prioritization of technological disasters over natural disasters 

88. Which provision of the Disaster Management Act, 2005 legally establishes the State Disaster 
Management Authority (SDMA)? 

(A)  Section 6 (B) Section 14 

(C)  Section 42 (D) Section 51 

89. A city invests in building green infrastructure such as urban wetlands to absorb floodwaters. 
In the disaster management framework, this is best classified under : 

(A)  Preparedness (B) Recovery 

(C)  Non-structural mitigation (D) Structural mitigation 

90. Under International Disaster Response Laws (IDRL), what is the key challenge faced by 
humanitarian relief organizations when entering a disaster-affected country? 

(A)  Difficulty in procuring international volunteers 

(B) Non-availability of funds for local operations 

(C)  Lack of clear legal framework for customs clearance, visas and recognition of aid 
providers 

(D) Absence of modern technology in disaster-prone regions 
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86. /���� /��*டZ �+R{W �0ட0� (NDRF) �)��! /��*டZ �+R{W �0ட����Ut (SDRF) /$��pTtX 

}M��� .�)]0� �t? 
(A) NDRF �)t�)W{ �0�O��T��V �+^ 
]ளt, SDRF �)��! �)$\t0 ��V �+^ 


]ளt 

(B) NDRF 0���)�M �RpW�pT�W�Rp ��{�Tt$X .�[ t, �/� /��T��\ SDRF 

�)��! �ள$�!)�t �[�X 
]�Z ��Tt��Me 
[ t 

(C)  NDRF ��[0� /��*டZ�0ள �Rp/� 0��)]�� t, SDRF ��*��)\ 


�$)M�W�Rட /��*டZ�0ளM 0��)]�� t 
(D) NDRF �[�)���)�t, SDRF ���U���)�t 

87. /��*டZ ��Tt e0 W{M�)� .�Sட)Y �Rட0�W{ (2015-2030) (�/�)/�) �Rட0�W/�)p 

�W��pX/�)t ��V }�V0� �re}0  �)[ �)� ��V$�$�$[ �\ �0� 

$���Tt�� t? 
(A) /��*ட�MeW ��U0�� ��*�)���)� ��$)��T��\ ���� �$�X .��Tt�\ 

(B) }V.�O��*M0� ��Tt e0 W{ �[�X �+]�V0� �Rட0�W��\ $�$)� 

}M���Tt$X 

(C)  �)!��0! �)[  ��$�\ ���T��/�� �$�X .��Tt�\ 
(D) ��[0� /��*டZ�0ள $�ட .�)#*\vR� /��*டZ��Me }Vx�*0� �ள*T�\ 

88. /��*டZ /�!)S0�O �RடX, 2005 �V �U� $���, �)��! /��*டZ /�!)S0� �0��T0�  

(SDMA) �RடW|Z$�)� ������ t? 
(A) ���*� 6 (B) ���*� 14 

(C)  ���*� 42 (D) ���*� 51 

89. �� ���X .$]ள�+0� 
 �Qj$�[e ��ZW{  	���!N�] /�)V  �j0��)� 
]�Rட0�W0� 


�$)Me$��\ }��p .�Y�� t. /��*டZ /�!)S0� �Rட0�W��\, �t �� W�)� 

$0�W�pT�W�p�� t : 
(A) ��)Z��0! (B) �+R{ 

(C) �Rட0�W{ �)�)� ��*W{ (D) �Rட0�W{ ��*W{ 

90. �Z$/�� /��*டZ ��.�)#* �RடN�ள*V (IDRL) �+^, /��*டZ �)��M�W�Rட �)Rn[e] 

v0#�X/�)t ��*�)���)� ��$)�� ���$�N�] ���Z.�)]�X }M��� �$)\ �V�? 
(A) �Z$/�� �V�)Z$!Z�0ள $)Ne$��\ ����X 

(B) 
]�Z �ட$nM0���Me ���� ��0டM�)�t 

(C)  jN� �x���, $��)M�] �[�X �N�+�)�T��[�)� .�ள*$)� �Rட �Rட0�W{ 
�\!)0� 
�$� $#Ne�Z�] 

(D) /��*டZ �)��W{Me]ள)� �e���ள*\ ��� .�)#*\vR�X �\!)�t 
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91. One of the key objectives of good governance is : 

(A)  Maximizing state control over citizens 

(B) Enhancing transparency and accountability 

(C)  Restricting access to information 

(D) Encouraging monopolistic practices 

92. Which among the following is NOT a challenge for e-governance in India? 

(A)  Digital divide 

(B) Lack of awareness and literacy 

(C) Abundant multilingual digital resources  

(D) Infrastructure limitations 

93. Incentivizing e-Governance is expected to reduce corruption mainly by : 

(A)  Reducing human interface in service delivery 

(B) Increasing paperwork and manual checks 

(C)  Strengthening middlemen’s role 

(D) Limiting access to grievance redressal 

94. Match the following e–Governance initiatives with their objectives : 

(i) e-Seva (a) Case information access 

(ii) MCA21 (b) System Land records digitization 

(iii) Bhoomi (c) Corporate filing 

(iv) e-Court (d) Online utility bill payments 

(A)  (i-a), (ii-c), (iii-d), (iv-b) (B) (i-d), (ii-c), (iii-b), (iv-a) 

(C)  (i-b), (ii-a), (iii-c), (iv-d) (D) (i-d), (ii-b), (iii-a), (iv-c) 

95. Decision Support System (DSS) differs from an Expert System in that : 

(A)  DSS always produces the final solution without human input 

(B) DSS assists managers in semi-structured decision making, whereas Expert 
Systems mimic domain expert reasoning 

(C)  DSS is rule-based while Expert Systems are purely statistical 

(D) DSS stores only qualitative data, Expert Systems store only quantitative data 
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91. �\!)R����V }M��� /�)M�N�ள*\ �V� : 
(A) en�M�] �+t ����V �RpW�)R0ட ����W�pTt�\ 

(B) .$ள*W�0டT�V0� �[�X .�)�W{�Z0$ �����*T�\ 

(C)  ��$\ �r�0! �RpW�pTt�\ 
(D) 
�/�)� �0ட}0 �0ள �Me$�T�\ 

92. ��V$�$�$[ �\ �t �U���)$�\ �*V-��0�Me �$)!)� �\0!? 
(A) n�*Rட\ ��ள� 

(B) $�#*W{�Z� �[�X �\$�� �� �\!)0� 

(C)  
�)ள�)� �V.�)#* n�*Rட\ $ளN�] 
(D) 
]�Rட0�W{ $�X{�] 

93. �*V-��0�Me �M��ள*W�t �#0!M e0 MeX �V� ���Z�)ZM�W�p�� t, }M����)� : 
(A) /�0$ $#N��\ ��*� �0ட}�T0�M e0 T�\ 

(B) �)���W��* �[�X 0�/�p ��*�)ZW{�0ள �����*T�\ 

(C)  �0டT���Z�ள*V �N0� $�W�pTt�\ 
(D) e0 �0ளT �+ZW��[�)� �r�0!M �RpW�pTt�\ 

94. ��V$�X �*V-��0� }�[���0ள �$[ �V /�)M�N��டV .�)�T��X : 
(i) �*V-/�0$ (a) $#Me ��$\ �r�\ 

(ii) MCA21  (b) �0�W{ ��!W �����] n�*Rட\ ���)M�\ 

(iii) |�*   (c)  ���$�T �)M�\ 

(iv) �*V-�+���V X  (d) �V0!V ��V�)Rp ��\ .�)pW����] 
(A) (i-a), (ii-c), (iii-d), (iv-b) (B) (i-d), (ii-c), (iii-b), (iv-a) 

(C)  (i-b), (ii-a), (iii-c), (iv-d) (D) (i-d), (ii-b), (iii-a), (iv-c) 

95. }n� ���� �0�W{ (DSS) �� ��{�Z �0�W����Ut /$��p�� t : 
(A) ��*� 
]ள+p �\!)�\ DSS �W/�)tX ���� �+Z0$ 
�$)Me�� t 

(B) DSS /�!)ளZ��Me �0�-�Rட0�M�W�Rட }n.$pW���\ 
���� t, �/����X 

��{�Z �0�W{�] .ட)0�V ��{�Z �eT� �0$W �������M��V � 

(C) DSS �V�t $��� �nW�0ட��!)�t ��{�Z �0�W{�] }[ ��X {]ள*$�$� 

�+���)� �Rp/� 
]ள� 
(D) DSS ���)� ��0$ �Rp/� /��*M�� t, ��{�Z �0�W{�] �ள� ��0$ �Rp/� 

/��*M��V � 
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96. Which of the following is NOT a provision of the IT Act 2000? 

(A)  Legal recognition of electronic records 

(B) Provisions for digital signatures 

(C)  Regulation of cybercrime and penalties 

(D) Guidelines for biometric Aadhaar authentication 

97. A survey shows the impact of e-Governance incentives : 

 Citizen Service Satisfaction: Before 42% →  After 78% 

 Reported Cases of Corruption: Before 38% → After 12% 

 Service Delivery Efficiency: Before 46% → After 81% 

 From the survey, which conclusion is most valid? 

(A)  Incentivizing e-Governance reduces efficiency but increases satisfaction 

(B) Corruption cases increased despite efficiency gains 

(C)  Incentivizing e-Governance improved satisfaction, efficiency and reduced 
corruption 

(D) No significant impact observed 

98. Kerala’s Akshaya Project is primarily associated with: 

(A)  Rural banking 

(B) Citizen-centric e-literacy and service delivery 

(C)  Defense procurement 

(D) Agricultural mechanization 

99. Which of the following best explains the role of encryption in information security? 

(A)  It prevents physical theft of data centers 

(B) It ensures only authorized parties can access the data 

(C)  It guarantees data will never be lost 

(D) It eliminates the need for authentication 

100. Consider this case : 

A state government implements a new e-Tendering platform. Within a year, bidding 
transparency improves, participation from small firms rises and cost savings are achieved. 
Which governance principles are directly demonstrated here? 

(A)  Equity, Transparency, Efficiency 

(B) Monopoly, Accountability, Accessibility 

(C)  Restriction, Control, Compliance 

(D) Secrecy, Uniformity, Bureaucracy 
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96. ��V$�$�$[ �\ �t IT �RடX 2000 �V �� $��� �\!? 
(A) �*V�r �����ள*V �Rட �N�+�)�X 
(B) n�*Rட\ 0�.�)W�N��M�)� 
[�)p�] 
(C)  0��Z e[ X �[�X ���)�N�0ள ��Ne�pTt�\ 
(D) �/�).�R�*M ��)Z �N�+�)�T��[�)� $#*�)Rp�\�] 

97. �� ��M.�pW{ �*V-��0� �M�T.�)0��ள*V �)M�T0�M �)Rp�� t : 
en�M�] /�0$ ���W�� : 42% Me }V 78% MeW �� e 

{�)�ள*M�W�Rட �#\ $#Me�]: 38% Me }V 12% MeW �� e 

/�0$ $#N�\ .��\�� V: 46% Me }V 81% MeW �� e 

��M.�pW����Ut, �U� }n� �*��X .�\��n�)eX? 
(A) �*V-��0�Me �M��ள*W�t .��\�� 0�M e0 M�� t, ��)\ ���W��0� 

�����*M�� t 
(B) .��\�� V ��)�N�] ��U�/�)���X �#\ $#Me�] �����*T�� 
(C)  �*V-��0�Me �M��ள*W�t ���W��, .��\�� V �[�X �#0!M e0 T�t 
(D) e �W��டT�M� �)M�X �t�X �)�W�ட$�\0! 

98. /��ள)$�V �L� ��RடX }�V0��)� �$[�டV .�)டZ{0ட�t : 
(A) ���)�W{  $N�����\ 
(B) en�M�0ள 0���)�M .�)Sட �*V-�\$�� �� �[�X /�0$ $#N�\ 
(C)  �)t�)W{ .�)]}�\ 
(D) $�$�)� ��U������)M�\ 

99. ��$\ �)t�)W��\ e ��)M�T��V �N0� ��V$�$�$[ �\ �t �� W�)� $�ளMe�� t? 
(A) �t ��� 0��N�ள*V �����\ .�WR (physical theft) –  � �pM�� t 
(B) �N�+��*M�W�Rட ��W���Z �Rp/� ��0$ �r� }n�X �V�0� �t 
��� 

.�Y�� t 
(C)  ��� ��/�)tX �#M�W�ட)t �V�0� �t 
��� .�Y�� t 
(D) �t �N�+�)�T��[�)� /�0$0� �+Me�� t 

100. �U� $#M0�M �$�*�N�] : 
�� �)��! ��j �� {��� �*V-.டSட�*N �ளT0� .��\�pTt�� t. �� $�டT��[e], 
! 
.$ள*W�0டT�V0� /�X�p�� t, �� �� ���$�N�ள*V �N/�[{ �����*M�� t �[�X 
.�!� /��*W{ �0ட�W�p�� t. �U� ��Z$)�M .�)]0��] �N/� /��n�)� 
�����M�W�p��V �? 

(A) ��Tt$X, .$ள*W�0டT�V0�, .��\�� V 
(B) 
�/�)�X, .�)�W{Mf \, �r�\ 
(C)  �RpW�)p, �0ட, ��M�X 
(D) �����X, �+�)� �V0�, ����)�Tt$X 

–––––––––––––––––– 
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 1. S\Lh|  WasLôV j¤WOÐfV S\Lh| kOñW qPk¾]sLeV. A, B, C, D IÐ} jLsV Aƒq SWLcOWt]sOç 

S\Lh| kOñW°tLeV j¤WOÐfV. 

 2. S\Lh| kOñW¾]R£  oOWt]¤ CafV vw¾V NkSf|W SWLt¾]¤ S\Lh| kOñW Aƒq SWLcV 

A\ÿa]\ÿ]ŸOºV. 

 3. KLSqL DSh|LYL¡À]¨OU j¤W]p]ŸOç S\Lh| kOñW Aƒq SWLcV AvqORa kq}ƒL zLt]Rs 

Cq]Õ]a¾]¤ SqXRÕaO¾]p]q]¨OU. 
 4. j]°¥¨jOvh]\ÿ]q]¨OÐ Aƒq SWLc]¤ j]ÐOU v|f|ñoLp SWLc]sOç S\Lh| kOñWoLeV 

sn]¨OÐRfË]¤ AfV Daja] C¢v]^]SsãrORa èÈp]¤RÕaOS¾ºfLeV. 
 5. S\Lh| kOñW NWo jÒ¡ kOrU\ŸpORa vsfOvw¾V oOWtã¾Lp] S\¡¾]ŸOºV. NWo jÒ¡ CsæL¾ 

S\Lh| kOñWoLeV j]°¥¨V sn]¨OÐRfË]¤ ASf Aƒq SWLc]sOç  S\Lh| kOñWU oLã] vL°OW. 
 6. S\Lh| kOñWU vsfO oL¡^]j]¤ oÈ| nLY¾Lp] y}¤ R\p]Åq]¨OU. D¾qRouOfLjOç AjOof] 

sn]\ÿLssæLRf S\Lh| kOñWU fOr¨L¢ kLa]sæ. 
 7. kq}ƒ fOa°]pLsOa¢ DSh|LYL¡À] fj]¨V sn]\ÿ]q]¨OÐ S\Lh| kOñW¾]¤ 100 S\Lh|°tOU 

NWooLp] DSºL IÐV kq]SwLi]S¨ºfLeV. S\Lh| kOñW¾]¤ A\ÿa]¨L¾SfL, W}r]pSfL, 

v]ŸOSkLpSfL Bp Sk^OW¥ DºLW]sæ; AgvL DRºË]¤ A¨Lq|U C¢v]^]SsãrORa èÈp]¤ 

RWLºOvq]WpOU ASf Aƒq SWLc]sOç kP¡¹oLp S\Lh| kOñWU oLã] vL°OWpOU R\SáºfLeV. 

CfV JãvOU NkiLjRÕŸfLeV. 

 8. CT S\Lh|SkÕr]Rs  1 oOf¤ 100 vRqpOç S\Lh|°¥  CUYæ}x]sOU fo]u]sOU Bp] 
A\ÿa]\ÿ]q]¨OÐO.  CT S\Lh|°tORa A¡ÀU, f¡²o IÐ]v yUmÌ]\ÿ yUwp°¥¨V CUYæ}xV 

oLi|o¾]sOç S\Lh|°tLeV BiLqoL¨OÐfV. 
 9. S\Lh| kOñW¾]R£ AvyLj Sk^]jO RfLŸOoO¢ÒV  KÐOU IuOfL¾ qºV Sk^OW¥ S\¡¾]ŸOºV. CfV 

D¾qU WºOk]a]¨OÐf]jOç WOr]ÕOW¥¨Lp] DkSpLY]¨LvOÐfLeV. 
 10. D¾q°¥ SqXRÕaO¾L¢ BqUn]¨OÐf]jV oOÒV D¾q¨asLy]R£ orOkOr¾Oç j]¡SÇw°¥ 

èÈLkP¡vÿU vLp]¨OW. 
 11. wq]pO¾qU D¥RÕRa KLSqL S\Lh|¾]jOU (A), (B), (C), (D) IÐ jLsV D¾q°¥ fÐ]q]¨OU. 

wq]pO¾qU RfqR´aO¾V K.IU.B¡. D¾q¨asLy]¤ mÌRÕŸ S\Lh| jÒr]jV SjRqpOç 

wq]pO¾qU yP\]Õ]¨OÐ WOo]t (mm]¥) oLNfU j}sSpL WrOSÕL mL¥ SkLp]£V Skj DkSpLY]\ÿV 

WrOÕ]¨OW.  
 12. KLSqL wq]pO¾q¾]jOU KqO  oL¡¨V sn]¨OWpOU KLSqL RfãO¾q¾]jOU  oL¡¨V 1/3 

jìoLvOWpOU R\áOU. D¾qU SqXRÕaO¾L¾  S\Lh|°¥¨V oL¡¨V jìoLvOW-p]sæ.  

 13. kq}ƒLyopU Wu]pOÐf]jV oOSÒL, D¾q¨asLyV C¢v]^]SsãRr J¤Õ]¨LRfSpL KqO 

DSh|LYL¡À]pOU  kq}ƒLzL¥ v]-ŸV kOr¾OSkLWL¢ kLa]sæ.  
 14. j]¡SÇw°¥ W¡wjoLp] kLs]S¨ºfLeV. kq}ƒ-p]¤ NWoS¨aV ja¾OWSpL Af]jOç èoU 

ja¾OWSpL R\áOÐ DSh|LYL¡À]WRt ASpLY|qLp]  NkX|Lk]¨OÐfLeV. 

BNbuGTG¡ÀWR¥¨Jç dW¡NÇq°¥ 

NVGbu eJñR 
?zk NRG]Q 

NVGbu eJñR 
IRi dÒ¡ A 
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